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[k.M&1

Section–1

(mÙkj dh 'kCn&lhek& 30] vad&20)

Hkkx&1

	 1-	 jklk;fud vfHkfØ;k dh nj ls D;k rkRi;Z gS\ bldk ek=kd D;k gS\ � ¹2º 

	 	 What is meant by rate of a chemical reaction? What is its unit. 
	 2-	 feJ/krq,¡ D;k gSa\ ihry ,oa dk¡lk dk la?kVu fyf•,A � ¹2º

	 	 What are alloys? Write the composition of Brass and Bronze. 
	 3-	 jklk;fud lkE;koLFkk ,oa lkE; fLFkjkad dks ifjHkkf"kr djsaA� ¹2º 

	 	 Define chemical equilibrium and equilibrium constant. 
	 6-	 iQksdl nwjh vkSj oØrk f=kT;k ds chp laca/ dks ifjHkkf"kr dhft,A � ¹2º

	 	 Define relation between focal length and radius of curvature. 
	 7-	 fof'k"V çfrjks/ dks çHkkfor djus okys dkjd dkSu&dkSu ls gSa\ � ¹2º

	 	 What are the factors influencing specific resistance? 
	 8-	 PN laf/ Mk;ksM dh mi;ksfxrk,¡ fyf•,A � ¹2º

	 	 Write the applications of PN junction diode. 
	 11-	 ekuo 'kjhj esa #f/j ds D;k&D;k dk;Z gSa\ � ¹2º

	 	 What are the functions of blood in human body? 
	 14-	 ikS/ksa esa •fut yo.k dk ifjogu dSls gksrk gS\ � ¹2º

	 	 How minerals are transported in plants? 
Hkkx&2 

	 1.	 9 12 18 21, , ,
10 25 35 40

 dk egÙke lekiorZd (e-l-) Kkr dhft,A � ¹2º

	 	 Find Highest Common Factor (HCF) of 9 12 18 21, , ,
10 25 35 40

 

	 2-	 ;fn b
a

= 0.25 gS] rks 2a – b 2
2a b 9

+
+

 dk eku Kkr dhft,A � ¹2º

	 	 	If b
a

= 0.25, then find the value of 2a – b 2
2a b 9

+
+

	 2-	 ;fn x= 2 vkSj y = –3 rks 
2 3x – xy y

x y
+

+  dk eku Kkr dhft,A � ¹2º

	 	 	If x= 2 and y = –3, then find the value of 
2 3x – xy y

x y
+

+

	  4-	 3 yky] 7 liQsn vkSj 2 uhyh xsanksa okyh Vksdjh ls 5 liQsn xsansa fudkyus dh çkf;drk Kkr dhft,A � ¹2º

	 	 Find the probability of drawing 5 white balls from a basket having 3 red] 7 white and 2 blue balls. 
	 5-	 A] B rFkk C ,d dk;Z dks Øe'k% 4 fnu] 5 fnu rFkk 10 fnu esa lekIr dj ldrs gSaA ;fn rhuksa feydj bl 

dk;Z dks djsa] rks fdrus fnu esa lekIr dj ldsaxs\ � ¹2º

	 	 A can do a work in 4 days, B in 5 days and C in 10 days-.Find the time taken by A, B and C to do the 
work together. 

	 6-	 oSfnd xf.kr lw=k&fuf•ye ls gy djsa] 98 × 96 vkSj çkIr mÙkj dh tk¡p chtkad }kjk djsaA � ¹2º

	 	 Solve 98 × 96 using Vedic Mathematics Sutra – Nikhilam and check the answer by Bijank.
Hkkx&3 
	 1-	 dEI;wVj esa RAM D;k gS\ � ¹2º

	 	 What is RAM in computers? 
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	 2-	 lapkj ds fdUgha pkj {ks=kksa ds uke fyf•,] ftuesa dEI;wVj dk mi;ksx fd;k tkrk gSA � ¹2º
	 	 Write the names of any four fields of communication in which computer is used.
	 3-	 lwpuk çkS|ksfxdh ls vki D;k le>rs gSa\ � ¹2º
	 	 What do you understand by information technology? 
	 5-	 ukfHkdh; fj,DVlZ esa ÅtkZ fdu vfHkfØ;kvksa ds dkj.k mRiUu gksrh gS\ dsoy uke fyf•,A� ¹2º
		   What are the reactions due to which energy is released in nuclear reactors\ Write name only. 
	 6-	 bu&flVw ,oa ,Dl&flVw laj{k.k dh ifjHkk"kk nhft,A � ¹2º
	 	 Define in-situ and ex-situ conservation. 
	 7-	 Hkkjro"kZ ds fdUgha pkj tSo&HkkSxksfyd {ks=kksa ds uke fyf•,A � ¹2º
	 	 Write the names of any four bio&geographical regions of India. 
	 8-	 ty çnw"k.k ds dkj.k gksus okys ,d thok.kq tfur rFkk ,d çksVkstksvk tfur jksx ,oa muds jksxtudksa ds uke 

fyf•,A � ¹2º
	 	 Write the names of a bacterial and a protozoan disease caused due to water pollution- Also write the 

names of their causal organisms. 
	 9-	 Hkkjro"kZ ds tSofofo/rk okys fdUgha pkj çeq• rIr LFkyksa ds uke fyf•,A � ¹2º
	 	 Write the names of any four important hot spots of biodiversity of India.

•.M &2 
Section–2 

(mÙkj dh 'kCn&lhek&60] vad&04) 
Hkkx&1 
	 4-	 laf'y"V viektZd D;k gSa\ /uk;uh ,oa ½.kk;uh viektZdksa dk ,d&,d mnkgj.k nsaA viektZdksa dks lkcquksa ls 

csgrj D;ksa ekuk tkrk gS\� ¹4º
	 	  What are synthetic detergents? Give one eñample each of cationic and anionic detergents- Why detergents 

are considered better than soaps? 
	 9-	 fuEukafdr fp=k esa fcUnq A vkSj fcUnq B ds chp dk rqY; çfrjks/ Kkr dhft, % 
		  Find the equivalent resistance between point A and point B in the following figure: 

8 Ω

8 Ω

8 Ω

8 Ω

8 Ω
A B

	  12-	 euq"; ds ikpu ra=k ds eq[; vax dkSu&dkSu ls gSa\ � ¹4º
	 	 What are the major components of human digestive system: 
	 15.	 çdk'k&la'ys"k.k D;k gS\ bl çfØ;k ds çeq• in D;k gSa\ � ¹4º
	 	 What is photosynthesis? What are the main steps of this process? 
	 16-	 Ñf=ke o/hZ çtuu ls vki D;k le>rs gSa\ Ñf=ke o"khZ çtuu ds fofHkUu rduhfd;ksa ds ckjs esa fyf•,A 
	 	 What do you understand by Artificial Vegetative Reproduction? Write down about various techniques of 

Artificial Vegetative Reproduction. 
Hkkx&2 
	 7.	 fdlh nLrkost ds 30 i`"Bksa dks fçaV djus esa A dks 2 ?kaVksa dk le; yxrk gS vkSj B dks ,d i`"B fçaV djus 

esa 5 feuV yxrs gSaA Kkr djsa fd B fdrus i`"B fçaV djsxk ftrus le; esa A 60 i`"B fçaV djrk gSA 
	 	 A can print 30 pages of a document in 2 hours and B takes 5 minutes to print a page- How many pages 

B will print in the time A prints 60 pages? 
	 8-	 HkO; us /kjk dh fn'kk esa 2 fdyksehVj dh nwjh 25 feuV esa r; dh vkSj mlh nwjh dks /kjk dh foijhr fn'kk esa 

r; djus esa mls 35 feuV yxrs gSaA /kjk dh xfr Kkr dhft,A 
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	 	 Bhavya rows a distance of 2 km down the stream in 25 minutes and he takes 35 minutes to cover the 
same distance upstream- Find the speed of the Stream. 

	 9-	 ½"kHk 'kq: esa fpfM+;k?kj dk lkeuk dj jgk FkkA og ?kM+h dh fn'kk esa 135° eqM+rk gS] rks vc og dgk¡ gS\ fiQj 
og cxhps dk lkeuk djus ds fy, ?kM+h dh foijhr fn'kk esa eqM+rk gS] rks crkb, og fdl dks.k ls eqM+kA 

	 	 Rishabh was facing the Zoo initially. He turned through 135° clockwise, where is he facing now? Then 
he turns in anticlockwise direction to face the Garden] what angle did he turn through? 

Rishabh

Park

S
SE

E

Book StoreGarden

SW

AirportW

N

Club
Railway

Zoo

NENW

Bus Stand

Hkkx&3 
	 4-	 dEI;wVj esa ROM D;k gS\ blesa fdl çdkj dh ;knnk'r (eseksjh) gksrh gS\ bldk D;k egRo gksrk gS\� ¹4º
	 	  What is ROM in computers? What type of memory does it contain? What is its importance? 
	 10-	 Hkkjro"kZ ds fo|qr mRiknu djus okys pkj ukfHkdh; ÅtkZ la;a=kksa ds uke fyf•,A � ¹4º
	 	 Write the names of four electricity&generating nuclear power plants of India. 
	 11-	 tSo&fofo/rk ds rIr LFky ls vki D;k le>rs gSa\ fdlh {ks=k dks tSo&fofo/rk dk rIr LFky gksus ds fy, nks 

ØkbVsfj;k (ekun.M) dkSu&dkSu ls gSa\
	 	  What do you mean by hot spots of biodiversity? What are the two criteria for any area to be a hot spot 

of biodiversity? 
	 12-	 jk"Vªh; m|ku ,oa vHk;kj.; esa vUrj fyf•,A 
	 	 Write the differences between National Park and Sanctuary. 
	 13-	 CNG D;k gS\ blds egRo dks le>kb,A 
	 	 What is CNG\ Eñplain its importance- 

•.M&3 
Section&3 

(mÙkj dh 'kCn&lhek&100] vad&08) 
Hkkx&1 
	 5-	 ,sYdksgkWy D;k gSa\ fxzxukMZ vfHkdeZd] C2H5MgBr dk mi;ksx djrs gq, çkFkfed] f}rh;d ,oa r`rh;d ,sYdksgkWyksa 

ds fuekZ.k dh jklk;fud vfHkfØ;k,¡ fy•saA � ¹8º
	 	 What are alcohols? Write chemical reactions for the preparation of primary, secondary and tertiary alcohols 

using Grignard's reagent, C2H5MgBr. 
	 10-	 çdk'k&fo|qr çHkko fdlh lksyj lsy dh dk;Zfof/ dk vk/kj dSls gS\ le>knk lksyj lsy dh lajpuk cukb,A
� [8] 
	 	 How photoelectric effect is the basis for working of Solar Cell? Explain Draw the structure of Solar Cell. 
	 13.	 ekuo 'kjhj dh es#jt dh lajpuk cukb, rFkk blds çeq• vxksa dks fpUgkafdr dhft,A euq"; dk raf=kdk ra=k 

es#jTtq ls dSls lacaf/r gS\ 

	 	 Draw the structure of spinal cord of human body and label its major components. How human nervous 
system is related to spinal cord? 
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Hkkx&2 
	 10-	 ehuk{kh us ` 45]000 dk fuos'k djds ,d O;olk; vkjEHk fd;kA 3 ekg ckn ` 60]000 dh iw¡th ds lkFk vfuy 

bl O;kikj esa lk>snkj gks x;k vkSj 6 eghus ds ckn lquhy ` 90]000 dh iw¡th ds lkFk bl O;kikj esa lk>snkj 
cu x;kA o"kZ ds var esa ` 16]500 ds ykHk esa ls çR;sd dks fdruk feyk\ 

		  Minakshi started a business investing ̀  45,000- After 3 months, Anil joined her with a capital of ₹ 60,000 
and after another 6 months, Sunil joined them with a capital of ₹ 90,000. At the end of the year, they 
made a profit of ₹ 16,500- Find the share of each. 

	 11-	 600 fd-eh- dh ;k=kk esa rst xfr dh Vªsu] /heh xfr dh Vªsu dh vis{kk 3 ?kaVs de le; ysrh gSA ;fn /heh xfr 
dh Vªsu dh xfr rst Vªsu dh xfr dh vis{kk 10 fd-eh-@ ?kaVk de gS] rks nksuksa Vªsu dh xfr Kkr dhft,A 

	 	 A fast train takes 3 hours less than a slow train for a journey of 600 km. If the speed of the slow train is 
10 km/hr less than that of the fast train] then find the speeds of two trains. 

Hkkx&3 
14- rkih; çnw"k.k D;k gS\ blds dkj.k] çHkko ,oa fu;a=k.k ds mik;ksa dk o.kZu dhft,A 

	 	 What is thermal pollution? Describe its reasons, effects and control measures. 
	 15-	 çdk'k&jklk;fud /qU/ D;k gS\ jklk;fud lehdj.k dh lgk;rk ls blds fuekZ.k dk çfØ;k dks le>kb,A

	 	  What is photochemical smog. Explain its system of formation with me help of chemical equations. 
	 16.	 vfurk D;k gS\ vkuqoaf'kd fofo/rk] çtkfr fofo/rk ,oa ikfjfLFkfrd fofo/rk dks ifjHkkf"kr dhft,A 

	 	 What is biodiversity? Define genetic diversity, species diversity and ecological diversity. 
•.M&4 

Section&4 
(mÙkj dh 'kCn&lhek&125] vad&10) 

(bl •.M esa Hkkx&2 ls dqy 2 ç'u vFkok@OR ds :i esa fn, x, gSaA 
vH;FkhZ dks buesa ls dksbZ 1 mÙkj nsuk gksxkA) 

Hkkx&2 
	 12-	 fn, x, ikbZ&pkVZ ,oa naM vkjs• dk vè;;u dhft, ,oa uhps fn, x, ç'uksa ds mÙkj nhft,%

	 	  Study the following pie&chart and bar diagram, and answer the following questions : 

6 Ldwyksa esa fo|kfFkZ;ksa dk çfr'kr dk 
forj.k] dqy fo|kFkhZ = 6000 

Percentage-wise distribution of 
students in 6 different schools, Total 

number of students = 6000

School F 6%

School 
A 12%School  B 9%School C 

26%

School D 
18%

School E 
29%

6000 fo|kfFkZ;ksa esa ls çR;sd Ldwy 
esa iq#"k fo|kfFkZ;ksa dh la[;k 
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out of 600 Students
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	 (i)	 Ldwy C] Ldwy E dh efgyk fo|kFkhZ ,oa Ldwy D ds iq#"k fo|kFkhZ dh la[;k dk ;ksx fdruk gS\ 
			  What is the sum of the number of girls in School C, the number of girls in School E and the number 

of boys in School D together? 
	 (ii)	Ldwy C ds iq#"k fo|kfFkZ;ksa dh la[;k] Ldwy B dh efgyk fo|kfFkZ;ksa dh la[;k ,oa Ldwy E ds dqy 

fo|kfFkZ;ksa dh la[;k dk vuqikr fdruk gS\ 

	 	What is the ratio of the number of boys in School C, the number of girls in School B and the total 
number of students in School E? 

	 (iii)	Ldwy F ds dqy fo|kfFkZ;ksa dh la[;k ,oa Ldwy E ds iq#"k fo|kfFkZ;ksa dh la[;k dk varj fdruk gS\

	 	 What is the difference between the total number of students in School F and the number of boys in 
School E? 

	 (iv)	Ldwy E dh efgyk fo|kfFkZ;ksa dh la[;k fdl Ldwy ds dqy fo|kfFkZ;ksa dh la[;k ds cjkcj gS\

	 	 In which school the total number of students is equal to the number of girls in School E\ 
•.M&5 

Section&5 
(mÙkj dh 'kCn&lhek&175] vad&15) 

(bl •.M esa Hkkx&1 ,oa 3 ls Hkkxokj dqy 4 ç'u vFkok@OR ds :i esa fn, x, gSaA  
vH;FkhZ dks Hkkx&1 o 3 esa ls 1&1 dk mÙkj nsuk vfuok;Z gSA) 

Hkkx&1
	  17-	 ijkorZu ds fu;e dks ifjHkkf"kr dhft,A fdlh oØ lrg ls ijkorZu fdlh lery lrg ls ijkorZu ls dSls fHkUu 

gS\ fuEu fLFkfr;ksa esa fdl çdkj ds niZ.k dk mi;ksx fd;k tk,xk\ mÙkj dh dkj.k lfgr iqf"V dhft,% 		
(a)lkSj Hkêðh 

	 (b)	fdlh okgu dk i'p&n`'; niZ.k 

	 (c)	 fdlh dkj dk gsM&ykbV 
		  Define the Law of Reflection. How reflection from curved surface is different from  Section from the 

plane surface? Which type of mirror will be used in the following situations? Support your answer with 
reasons :

		   (a) Solar furnace 
		  (b) Rear-view mirror of vehicle 
		  (c) Headlight of car 

vFkok@OR
	 18.	 gSykstu rRoksa dks fuEu ds lanHkZ esa le>kb,%

 	 (a)	vkorZ lkj.kh esa LFkku

	  (b)	rRoksa dh HkkSfrd voLFkk 

	 (c)	bysDVªkWu yfC/ ,UFkSYih 
	 (d)	fo|qr&½.kkRedrk 

	 (e)	varjgSykstu ;kSfxdksa dk fuekZ.k 

	 	 Discuss Halogen elements with reference to the following: 
	 (a)	 Position in periodic table 
	 (b)	 Physical state of elements 
	 (c)	 Electron gain enthalpy
	  (d)	 Electronegativity 
	 (e)	 Formation of interhalogen compounds 
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Hkkx&3 
	 17-	 vkbZ-;w-lh-,u- us yky lwph esa •rjs esa iM+h çtkfr;ksa dks fdruh Jsf.k;ksa esa oxhZdr fd;k gS\ çR;sd Js.kh dk 

uke fy•dj mUgsa le>kb,A 

	 	 In how many categories, threatened species are classified in Red List of I.U.C.N.? Write the name of each 
category and eñplain them. 

vFkok@OR
	 	 Bksl vif'k"V çcU/u D;k gS\ Bksl vif'k"V çcU/u ds mís'; rFkk fØ;kRed rRoksa dk o.kZu dhft,A 

	 	 What is solid waste management? Describe the object and functional elements of the solid waste 
management. 


